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QUESTION 1

Workstations are unable to access the Internet after a recent power outage. Configure the appropriate devices to ensure
ALL workstations have Internet connectivity. Instructions: All ports can be enabled (green) or disabled (red). When you
have completed the simulation please select the Done button. 

Hot Area: 

Correct Answer: 

All ports should be enabled. 
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QUESTION 2

Which of the following is the prefix for a link-local IPv6 address? 

A. FE80::/10 

B. FF00::/8 

C. 2FFE::/16 

D. FEEF:/12 

Correct Answer: A 

 

QUESTION 3

Ann, a network technician, has just installed a fiber switch in a datacenter. To run the fiber cabling, Ann plans the cable
route over the top of the rack using the cable trays, down to the switch, coiling up any excess cable. As Ann configures
the switch, she notices several messages in the logging buffer stating the receive signal of the SFP is too weak. Which
of the following is MOST likely the cause of the errors in the logging buffer? 

A. Bend radius exceeded 

B. Fiber cable mismatch 

C. Fiber type mismatch 

D. Bad fiber switch 

Correct Answer: A 

 

QUESTION 4

A company is contracting a new third-party organization that will handle storage of the company\\'s critical data. Which
of the following policies would ensure the data remains confidential? 

A. SLA 

B. NDA 

C. MOU 

D. BYOD 

Correct Answer: B 

 

QUESTION 5

A small business utilizes a SOHO router and wishes to secure its existing wireless infrastructure. The business has
fewer than ten devices, which are a mixture of old and new machines. Due to the varying ages of the machines, the
latest wireless encryption methods may not be supported on all devices. Which of the following would be the MOST cost-
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effective method to add a layer of security while allowing all machines to connect? 

A. WPA2 

B. EAP-FAST 

C. MAC filtering 

D. 802.1X 

Correct Answer: A 
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